ADJUSTABLE MEASURING
FORCE DIGIMATIC MICROMETER
Series227

Ref. No. 227-04-2002-DEC 1/3

227 1) —X(CLM)

ARNAERNTIIF v IRAIB* =4

EHENO,227-04
KEY
NO. Tevr PART NAME CODE NO. J—FENO. HE
RFEES | 227-203 | 227-213 227-204 227-214 COMMENTS
CATEGORY| (CLM1-30QM) |(CLM1-1.2"QM)| (CLM2-30QM) [(CLM2-1.2"QM)
1|87y BUSH Y1 309269
2 |[REVMILASSY SPINDLE ASSY Y1 982745
2-1 [REUMI SPINDLE Y1 309493
2-2 2= SCALE Y1 02ACA552
3 |2AFMFE-R SLIDER Y1 04AAA300
4 |Luhyry JUNCTION SCREW Y1 04AAA301
5 |Aa9E'u(p2x5) PARALLEL PIN(¢ 2 X 5) Y1 04AAA302
6 |6h971VEbA2Y (M2X2) SETSCREW(M2 X 2) Y1 309289
7 |4yYa97 ASSY DETECTOR ASSY Y1 982746
7-1_|5YyMASSY GRID ASSY Y1 982747
7-2 14 2bYH4S HOLDER PLATE, GIB Y1 309496
7-3 [2a—H SPACER Y1 309499
-4 [TV N R SPRING Y1 309497
7-5 |5y AYIfint SPRING Y1 309498
7-6_|FA32Y (M1.4%2) SCREW(M1.4 X 2) Y1 353335
7-7 (634 H'2@EE1.4) WASHER Y1 353341
8 |[FA'33Y (M1.7x3.5) SCREW(M1.7 X 3.5) Y1 309290
9 |49Y%397°'ASSY FEEDING UNIT ASSY Y 982647 04AZA143
9-1 [#5YFvb FEED NUT Y 309279 —
9-2 [Yu7'l THIMBLE Y 309280 —
9-3 |IHun't SPRING Y 309281 —
9-4 |7Fybnt SPRING, RATCHET Y 309282 —
9-5 |FA' 32V (M1.4%1.4) SCREW(M1.4 X 1.4) Y 309291 —
10_[7yEl ANVIL Y1 04AAA420
11 |3zYn'vEy PACKING Y Y 309297
12 |7L—Lh—ASSY FRAME COVER ASSY 04AZA181 | 04AZA183 | 04AZA182 | 04AZA184
13 [#yTUnRASSY CONTACT ASSY Y1 04AZA135
14 [#£9IVAA—% INSULATION SPACER Y1 04AAA314
15 [775%° PLASTIC SCREW Y1 04AAA315
16 [R7)U9 H{MASSY SPRING GUIDE ASSY Y1 04AZA136
17 (M3 P 1.9%5) PARALLEL PIN(¢ 1.9 X 5) Y1 04AAA325
18 [hV 1927709 SPRING Y1 04AAA318 | 04AAA319

ADJUSTABLE MEASURING
FORCE DIGIMATIC MICROMETER
Series227

Ref. No. 227-04-2002-DEC 1/3

312

227 ¥1)— Z(CLM)
AEAAZERTIRFYIIAI0%—4

27



ADJUSTABLE MEASURING
FORCE DIGIMATIC MICROMETER
Series227

Ref. No. 227-04-2002-DEC 2/3

AENAER

— .

TV

227 1) —X(CLM)
RFYIRAIAA—4

#$EN0,227-04
KEY
NO. Tevr PART NAME CODE NO. J—FENO. -
BR5ER % | 227-203 | 227-213 | 227-204 | 227-214 COMMENTS
CATEGORY| (CLM1-30QM) |(CLM1-1.2”QM)| (CLM2-30QM) |(CLM2-1.2"QM)
19 [R7yA'-RASSY SPRING BASE ASSY Y1 04AZA142
20 [WRFantd47°39 |MEASURING FORGE SELEGTOR PLUG Y1 04AAA320
21 |$ry7'ASSY CAP ASSY Y 04AZA145
21-1 |¥4v7° CAP Y 04AAA321
21-2 oYy O-RING Y 309286
22 |75 %%y7 MEASURING FORCE SELECTOR CAP Y1 04AAA322 | 04AAA323
23 [6h971Y%FA2Y (M2 X 2) SETSCREW(M2 X 2) Y1 309289
24 (735 hn— |M_EASURING FORCE SELECTOR COVER Y 04AAA324
25 |6097194bA%Y (M3 X 3) SETSCREW(M3 x 3) Y 210150
26 |E/1-) [MODULE Y 04AZA185A | 04AZA185B | 04AZA185A | 04AZA185B
26-1 |VHILASSY PANEL ASSY Y1 04AZA193A | 04AZA193B | 04AZA193A | 04AZA193B
26-2 |LCD LCD Y1 04AAA409
26-3 |[1v43%9% INTER CONNECTOR Y1 09GAA184
26-4 |3V —2{vF RUBBER SWITCH Y1 04AAA332B
26-5 |h407°Av) P.CB. Y1 04AZA194L | 04AZA194M | 04AZA194L | 04AZA194M
26-6 |7 VFYATREIVY [MINUS CONTACT Y1 09GAA173
26-7 |7 VFT IR0y PLUS CONTACT Y1 546807
26-8 |7 VFF-A BATTERY BOX Y1 308785
26-9 |BT#Y (1.6 X 7) BT SCREW(1.6 X 7) Y1 198598
26-10 |BT#Y'(1.6 X 3.8) BT SCREW(1.6 X 3.8) Y1 198591
27 |TUFI5ASSY BATTERY LID ASSY 982444
27-1 [T UFRew7 V=l SEAL, BATTERY CAP 308790
27-2 |7 VFr-2%4v7 CAP, BATTERY BOX 308791
28 [HH31H4ASSY CONNECTOR ASSY Y1 981894
28-1 |1%9% CONNECTOR Y1 306194
28-2 |1495%%y7 CONNECTOR CAP Y1 306186
29 |Fob NUT Y1 305910
30 [FA3%Y (M1.4x45) SCREW(M1.4 X 4.5) 525863
31 [FA3RY (M14x2) SCREW(M1.4 X 2) Y 353335
32 |t5%"h"#(3E1.4) WASHER Y 353341
33 |94%kNY WIRE HOLDER Y1 04AAA330
34 |AMA-HIVF7vYa STROKE END BUSH 04AAA331

ADJUSTABLE MEASURING

Ref. No. 227-04-2002-DEC 2/3

227 ¥1)— Z(CLM)

227

FORCE DIGIMATIC MICROMETER .
Series227 BEAATER

313

F

TIRFUIRA704=4

227



ADJUSTABLE MEASURING Ref. No. 227-04-2002-DEC 3/3 227 1) —Z(CLM)
FORCE DIGIMATIC MICROMETER AENTERTIIFYIIAIAL—4
Series227

#H4EN0,227-04
KEY
NO. Tevr PART NAME CODE NO. J—FENO. £
RER % | 227-203 | 227-213 | 227-204 | 227-214 COMMENTS
CATEGORY| (CLM1-30QM) |(CLM1-1.2"QM)| (CLM2-30QM) [(CLM2-1.2"QM)
35 [R{FARTFAN— SCREWDRIVER 210183
36 [134UnyTYnyh BATTERY 938882
(A7 2av] [OPTION]
by =70 1m SPC CABLE 1M 937387
Yy 9r-7' 2m SPC CABLE 2M 965013
[@EEH] [PACKING]
hg/9na HOUSING CASE 04MZA133
39— PAPER CASE 471690

ADJUSTABLE MEASURING Ref. No. 227-04-2002-DEC 3/3 . )
FORCE DIGIMATIC MICROMETER . e 227 2 1)—X(CLM)
Series227 AEAAZERTIRFYIIAI0%—4

314



